Geography 460 – Autumn 2002

Worksheet 2 – Reference Systems

Identify the type of reference system (by component: spatial, temporal, attribute) and level of measurement for each of the following measurements. Insufficient information is a possible answer.  

Measurement:
Type of Reference System:
Level of measurement:

Low 



08/17/19



July



Dead



$18.53



Zone 5626 388263 59678



900 sheep



N 45(00’E 400.00 ft



section 17, township 17 north, range 2 west Willamette Meridian



23 seconds



Green



16 in



47( 09’ 08” N -118( 04’ 00” W



537.0009



0( C



Bad



18 of a possible 21
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Worksheet 3 – Attribute Operations

Examine the following input and results.  Determine which attribute operation was used.  You may qualify your interpretation of the input data and/or justify your answer in one sentence.

Input Data:
Result:

State Name
Near Ocean
Has Mountains
Value

Washington
Yes
Yes
1

Iowa
No
No
2

Oregon
Yes
Yes
1

Colorado
No
Yes
3

Florida
Yes
No
4

Operation:

Justification:

Input Data
Result

47
Fair

63
Good

49
Fair

78
Good

98
Good

23
Poor

  6
Poor

Operation:

Justification:

Input Data
Result

County
AM
PM
Value

Grays Harbor
45( F
56( F
11

Island
47( F
61( F
14

Jefferson
51( F
67( F
16

King
39( F
51( F
12

Kitsap
41( F
47( F
6

Kittitas
49( F
55( F
6

Operation:

Justification:

Input Data
Result

County
Area
Population
Value

Grays Harbor
1917.0299
68339
36

Island
230.9248
70101
304

Jefferson
1772.9654
26020
15

King
2164.6222
1631488
754

Kitsap
391.0041
235957
603

Kittitas
2328.9365
31363
13

Operation:

Justification:

Input Data
Result

3
6.33

7
14.77

19
40.09

12
25.32

4
8.44

8
16.88

2
4.22

Operation:

Justification:

Input Data
Result

A-
No Match

AB-
Match

A+
No Match

O+
Possible

O+
Possible

O-
Possible

B+
No Match

Operation:

Justification:
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Worksheet 4 – Grid Functions

Perform the following raster operations in the data provided.  Write your numeric answer in the corresponding grid cells in the output grids on the right.   Note:  ND = No Data.  Use the operation rules that ArcView does, as described in the on-line help. 

Perform a ‘Find Distance’ using distances in Map Units  (cell size is 30 Meters)

Input Data:  

3
2
ND
ND
ND
ND

ND
4
ND
ND
9
ND

ND
7
3
ND
ND
ND

ND
ND
2
ND
ND
ND

ND
ND
7
2
9
ND

ND
ND
ND
ND
ND
1

Perform a ‘Minimum’ neighborhood operation using a circular neighborhood with a radius of 1 cell.

Input Data: 

9
12
2
9
4
3

12
10
18
ND
2
10

13
ND
0
12
7
18

13
2
6
15
15
8

1
18
13
3
ND
17

15
2
6
3
11
13




Your output:











































Your output:











































Perform a ‘Raster Query’ on the two input grids below using the following formula:

(([Roads] =0) and ([Elev]<50))

Roads:

0
1
0
0

0
1
0
0

0
0
1
0

0
0
1
1

Elev:

68
62
54
49

65
51
48
43

58
43
40
38

46
37
35
32

Your Output:
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Worksheet 5 –Transformations

Identify the attribute assumption, neighborhood construction and type of transformation for the following operations:

Attribute Assumptions: Implicit, External

Neighborhood Construction: Implicit, Discovered

Transformation Type: Case 0, Case 1A, Case 1N, Case 2 (from table 9-3)

Operation:
Attribute Assumption
Neighborhood Construction
Transformation type

Spatial join between points and lines




Calculate the number of schools in each census tract using census polygons and school point locations.




Derive points from a line




Derive a TIN from points




Interpolate values at new locations from points with known values using IDW on the three nearest neighbors with a decay power of 2




Derive the value at a point location from an underlying elevation grid.




Calculate the maximum value neighborhood operation on a grid using a 

3 x 3 cell rectangular neighborhood.




